3UDFRZQLN 5RINiDG  GU - RZDOFJ\N *Q\S ORQIND 7\J

7\J
OHIRG\ XFJHQLD VIC L VIXGIRZDQLD iZ

o G - RZDIFT\N *Q\S ORQIND =
o 36/ &
=DICFID VIDFIRQDIQH Z L
IN\J SRTRVIDiH TGDIQH
7N N
3HGDJRJIND VSRIHFIQD
z 3HGDJRJIND VSRIHFIQD Z G .RZDIFI\N *Q\S
z UZ Gl -RZDIFT\N *Q\S ORQND = 36/
z ORQND = 36/ :
N & zIN\J  ]DICFID
1DICFID PlQ JDICFD
VIDFIRQDQH SRIRVIDiH Z VIDFIRQDUQH SRIRVIDH Z
WAELH JGDIQ\P WAELH J6DIQ\P
o
D
7N 7N
z -RPXQINDFID LQIHUSHWRQDIQD Z SUDF\
Z VRFIDIQHI GZ GU .RZDIFJ\N *Q\S -RPXQINDFID
2 ORQND 36/ & LQIHUSHWRQDIQD Z GU
N =DICFID JGDIQH -RZDIFJW *Q\S ORQIND
= 367 -
=DICFLD JGDIQH = I\J
10ICFD ~ Pl
=
]
7N 7N 7N
OHIRG XFTHQID VIC L VIXGIRZDQID iZ 3HGDIRJIND VSRIHFIQD Z GU -RPXQINDFID [QIHUSHWVRQDIQD Z SUDF\
G - RZDIFJ\N *Q\S ORQIND = -RZDIFT\N *Q\S ORQND = VRFI Z G .RZDIFJ\N *Q\S ORQIND
5 365 & 365 = 365 =
= =DICFID J6DIQH =DICFID J6DIQH =DICFID J6DIQH
|
x 7N 7N
>

3HGDJRJIND VSRIHF]QD GZ GU
_RZDIFT\N *Q\S ORQIND =
365 &

=DICFID JGDIQH

ORQND 365 &
=DICFID JGDIQH

- RPXQINDFID LQIHUSHUVRQDIQD Z SUDF\
VRFIDIQHI 4Z GU .RZDIFJ\N *Q\S




